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) SUERHhO TinZkEEd 51 Hh 2lERI A
Eﬁg TREOBBOEILHNOKRES TREDHBEILENORES TREOBBOSILNOKRES TREOHBESILNOKRES
i T 1 i i 7 el Il B Il I e o 7 Ml At o
’ 100kN/mM#%#8 % % -l -~ - -|3mZEiBZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%iB 2% -~ - - -
s 1.00]0.00 ~ 479 59.69| Zh LSt |000 ~ 479 1.95 10.41 zHns 1.00] 500 ~ 550 59.69| =hLlst | 500 ~ 550 1.95 10.41
9 100kN/M%EHBZ 5 - -~ - -|3m%##EZ25]|0.00 ~ 0.15] 3.27 17.50| 100kN/m%#B 2% - -~ - -|3m%#EZ5| 500 ~ 7.00] 3.27 17.50
s 1.00/0.00 ~ 1.15 1418 =4t [0.15 ~ 115 3.00 16.05 s 1.00] 500 ~ 7.00 14.18] x4t | 5.00 ~ 5.00] 3.00 16.05
3 100kN/mM#%#8 2 % 1.00]0.00 ~ 0.25 103.64| 3mZEHEZ D -~ - - —-| 100kN/m%#8 %% 1.00| 10.87 ~ 11.61 103.64| 3mZE#EZ D -~ - - -
s 1.00]0.25 ~ 8.03 100.00f Z=h 4t |0.00 ~ 8.03] 2.07 11.06 s 1.00] 5.00 ~ 10.87 100.00f #h 4t | 5.00 ~ 11.61| 2.07 11.06
4 100kN/mM#%#8 2 % 1.00{0.00 ~ 0.08 101.19|3mZEEZ D -~ - - —-| 100kN/m%#8 %% 1.00| 11.74 ~ 11.97 101.19|3mZEEZ D -~ - - -
s 1.00/0.08 ~ 7.87 100.00f Zh 4t | 000 ~ 7.87| 245 13.10 s 1.00] 500 ~ 11.74 100.00f Zh st | 500 ~ 1197 245 13.10
5 100kN/mM%#8 2 % 1.00/0.00 ~ 1.01 115.13|3mZEEZ 5D -~ - - —-| 100kN/m%#8 %% 1.00] 10.94 ~ 13.99 115.13|3mZEEZ D -~ - - -
s 1.00]1.01 ~ 8.79 100.00f Zh st |0.00 ~ 8.79| 2.34 12.51 s 1.00] 500 ~ 10.94 100.00f Zh 4t | 500 ~ 1399 234 12.51
6 100kN/mM%#8 2 % -l -~ - -|3mZi#BZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3mZEi#B 25 -~ - - -
s 1.00]/0.00 ~ 7.06 89.55| #hLls |000 ~ 7.06] 1.85 9.90 s 1.00] 500 ~ 9.00 89.55| #hLlst | 500 ~ 9.00f 1.85 9.90
7 100kN/mM%#8 2 % -l -~ - -|3m%Ei#BZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3mZEiB 23 -~ - - -
s 1.00/0.00 ~ 6.17 77.48| =hil4t 1000 ~ 6.17] 1.76 9.44 zHnLs 1.00] 500 ~ 7.13 7748 =hlst | 500 ~ 7.13] 1.76 9.44
8 100kN/m#%#8 2 % -l -~ - -|3mZEi#BZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%Ei#BZ 5 -~ - - -
s 1.00/0.00 ~ 6.71 84.72| #h L4 |0.00 ~ 0.00| 1.66 8.86 s 1.00] 500 ~ 8.35 84.72| #=h L4t | 500 ~ 835 1.66 8.86
9 100kN/mM#%#8 2 % -l -~ - -|3mZiB2 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%Ei#BZ 3 -~ - - -
s 1.00]0.00 ~ 557 69.59| =hLls |000 ~ 557 2.14 11.44 zHnLs 1.00] 500 ~ 8.17 69.59| =hLlst | 500 ~ 8.17| 214 11.44
10 100kN/mM#%#8 2 % 1.00]0.00 ~ 1.67 125.52|3m#*#BZx 5% -~ - - —| 100kN/mM%i#B % % 1.00| 10.66 ~ 16.28 125.52|3m%*x#BZx 5% -~ - - -
s 1.00]1.67 ~ 945 100.00f ZhList+ |0.00 ~ 9.45| 246 13.19 s 1.00] 5.00 ~ 10.66 100.00f Zh st | 500 ~ 16.28| 2.46 13.19
11 100kN/mM#%#8 2 % 1.00{0.00 ~ 1.99 130.79| 3m%*x#B 25 -~ - - —| 100kN/mM%#B % % 1.00] 10.98 ~ 18.31 130.79| 3m%*x#B =25 -~ - - -
s 1.00]199 ~ 978 100.00f Zhl4t |0.00 ~ 9.78] 2.55 13.62 s 1.00] 5.00 ~ 10.98 100.00f Zh 4t | 500 ~ 1831 255 13.62
12 100kN/mM%#8 % % 1.00]0.00 ~ 1.56 123.80|3m%*#B=x 5% -~ - - —| 100kN/mM%i#BZ % 1.00] 11.01 ~ 16.25 123.80|3m%*x#B=x 5% -~ - - -
s 1.00]1.56 ~ 9.34 100.00f Zhlst |0.00 ~ 9.34] 255 13.65 s 1.00] 500 ~ 11.01 100.00f Zh 4t | 5.00 ~ 16.25| 2.55 13.65
13 100kN/m#%#8 2 % 1.00/0.00 ~ 1.21 118.32| 3m%*#BZx 5% -~ - - —| 100kN/m%i#8 % % 1.00| 10.60 ~ 14.35 118.32| 3m%*x#Bzx 5% -~ - - -
s 1.00]1.21 ~ 9.00 100.00f Z=hlst+ | 0.00 ~ 9.00] 2.25 12.04 ZHns 1.00] 5.00 ~ 10.60 100.00f Zh st | 500 ~ 1435 2.25 12.04
14 100kN/m#%#8 2 % 1.00/0.00 ~ 1.21 118.32| 3m%*#B=x 5% -~ - - —| 100kN/mM%i#B % % 1.00| 10.61 ~ 14.35 118.32| 3m%*x#B=x 5 -~ - - -
s 1.00]1.21 ~ 9.00 100.00f Z=h st |0.00 ~ 9.00] 2.25 12.04 s 1.00] 500 ~ 10.61 100.00f Zh st | 500 ~ 1435 2.25 12.04
15 100kN/M%#8 2 % -l -~ - -|3mZiB2 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%EiB 25 -~ - -
ZTh Lt 1.00]0.00 ~ 5.02 62.50] ThL4t [0.00 ~ 502 2.31 12.36 ZTh Lt 1.00] 500 ~ 8.98 62.50] =hLi4t | 500 ~ 898| 231 12.36
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B3 -2 REYCHERTILEESNIERICETIEE (2/2) i} | BEEE | FRUEE
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R o= BT e | B2 | T mme | | em | B2 e T T | B2 T | T | e
16 100kN/mM#%#8 % % -l -~ - -|3mZEiBZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%iB 2% -~ - - -
s 1.00]0.00 ~ 7.78 99.94| Zh L4 |000 ~ 7.78] 2.69 14.38 zHns 1.00] 5.00 ~ 15.03 99.94| Zh L4t | 500 ~ 1503 2.69 14.38
17 100kN/mM#%#8 2 % -l -~ - -|3mZi#BZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%Ei#BZ % -~ - - -
s 1.00]0.00 ~ 743 94.90| ZhLlst |000 ~ 7.43| 2.76 14.79 s 1.00] 500 ~ 15.21 94.90| =h L4t | 500 ~ 1521 2.76 14.79
18 100kN/ Mm%z % - -~ - -|3m%i##Z2%5]|0.00 ~ 0.00] 3.00 16.07| 100kN/m#%#B 25 - -~ - -|3m%## 25| 15.00 ~ 1521 3.00 16.07
s 1.00]0.00 ~ 743 94.90| =hLls 000 ~ 7.43| 3.00 16.05 s 1.00] 500 ~ 15.21 94.90| =h L4t | 500 ~ 15.00( 3.00 16.05
19 100kN/mM#%#8 2 % 1.00|0.00 ~ 157 123.91|3mZEEZ D -~ - - —-| 100kN/m%#8 %% 1.00| 10.88 ~ 16.11 123.91|3mZEEZ D -~ - - -
s 1.00]1.57 ~ 9.35 100.00f Z=h 4t |0.00 ~ 9.35| 2.53 13.52 s 1.00] 5.00 ~ 10.88 100.00f Zh 4t | 500 ~ 16.11| 253 13.52
100kN/mM%#8 2 % ~ ImEHBZD ~ 100kN/M%HBZ 5 ~ ImEHBZD ~
zh st ~ Zh st ~ Zh st ~ zh st ~
100kN/mM%#8 2 % ~ ImEHBZD ~ 100kN/M%HBZ 5 ~ ImEHBZD ~
zhLst ~ Zh st ~ Zh Lot ~ Zh LSt ~
100kN/mM%#8 2 % ~ ImEHBZD ~ 100kN/M%HBZ 5 ~ ImEHBZD ~
Zh st ~ Zh st ~ zh st ~ Zn st ~
100kN/m#%#8 2 % ~ ImEHBZD ~ 100kN/M%EHBZ 5 ~ ImEHBZD ~
zh st ~ Zh st ~ Zh Lot ~ zh st ~
100kN/mM#%#8 2 % ~ ImEHBZRD ~ 100kN/M%HBZ 5 ~ ImEHBZD ~
zh st ~ Zh st ~ Zh st ~ zh Lot ~
100kN/mM#%#8 2 % ~ ImEHBZD ~ 100kN/M%HBZ 5 ~ ImEHBZD ~
zh st ~ Zh st ~ Zh st ~ zh st ~
100kN/mM#%#8 2 % ~ ImEHBZD ~ 100kN/M%EHBZ 5 ~ ImEHBZD ~
Zh st ~ Zh st ~ Zh st ~ zhLst ~
100kN/mM%#8 % % ~ ImERBZRD ~ 100kN/M%HBZ 5 ~ ImEHBZD ~
zh st ~ zh st ~ Zh st ~ zh st ~
100kN/m#%#8 2 % ~ ImEHBZRD ~ 100kN/M%HBZ 5 ~ ImEHBZD ~
zh st ~ zh st ~ Zh st ~ Zzhst ~
100kN/m#%#8 2 % ~ ImEHBZRD ~ 100kN/M%EHBZ 5 ~ ImEHBZD ~
zh st ~ Zh st ~ zh st ~ ZThst ~
100kN/M%#8 2 % ~ ImEHBZRD ~ 100kN/M%HBZ 5 ~ ImEHBZD ~
zh st ~ Zh st ~ Zh st ~ ZThst ~
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